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CHEMISTRY

TRHEROT  IPRSIY  eros
PRI R BODODEG, &R
BIoD  Jodnd B FINIYNVY,
SRR ?

i.  Fe,0,+3C0—> 2Fe +3CO,
ii. FeO+8i0,— FeSiO,

iii. Fe,0,+3C—> 2Fe +3CO

iv. CaO +S8i0,—> CaSiO;
() ispii  (B) ii R

(©) iii DIiv (D) i=dRiv

& FWNSYNYY, oIS RBeeRD
geo,eod TOTRDIT DG TR
920053 fadcagp‘ oR0TIRTIRY BrodI?
(A) IH,0 (B) XeF, NH,
(C) H,0,NF, (D) SOj.H,S

B FINIPv, BOTRT 08, RO ?
(A) Cl, o» H,0 el O, ®n
VZAFROBE STOF, ol e .

0.1 SeedIR), XeFg &) 1.8 g ed3
2R3 IS ROONS. IES em@ﬁ@ :

(A) XeO,

(B) XeOF,

(C) XeO,F,

(D) Xe+XeO,

BI D) oonE,S(aquaregia)Boodr esrbaf
godedg, FHo IS v
RS0 &oert BN

(A) +4 Qo3 +2

(B) +5 Q03 +2

(C) +6 RoT +4
(D) +3 o3 +1

88 BIYRRFODY, IBOD AR
DI -

(A A (B) B,
SUBAFROBE 8B Cl, ol 0.
(C) Cl, ow» F, n3 Jwo D WO mo@ﬁédgt Daet3ont
VIR EITIOCINGS. R S, BRoOTE ToO=OT* T
(D) TG LI (A) §oou'6,6 (B) wo,ms
SUZRF £2TIOCERNGS. (C©) Joo6 (D) weee
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CHEMISTRY

1. Among the following, the main
reactions occurring in blast furnace
during extraction of iron from
haematite are

i.  Fe,0;+3C0O—> 2Fe +3CO,
ii. FeO+8i0,—> FeSiO,

iii. Fe,0;+3C—> 2Fe+3CO
iv. CaO + 8i0, — CaSiO,

(A) iandii  (B) iiandiii

(C) iiiandiv (D) iandiv

2.  Which of the following pair contains
2 lone pair of electrons on the central
atom ?

(A) I;,H,0 (B) XeF,NH,
(C) H,0,NF; (D) SO7,H,S

3.  Which of the following statement is
correct ?

(A) CI, oxidises H,O to O, but F,
does not.

(B) F, oxidises H,0 to O, but Cl,
does not.

(C) (I, is a stronger oxidizing agent

0.1 mole of XeF is treated with 1.8 g

of water. The product obtained is
(A) XeO, (B) XeOF,

(C) XeO,F, (D) Xe+XeO,

In the reaction of gold with aquaregia,
oxidation state of Nitrogen changes
from

(A) +4to+2

(B) +5to+2

(C) +6to+4

(D) +3to+l

The vitamin that helps in clotting of
blood is

A) A ®) B,

© C D) K

The polymer containing five methylene
groups in its repeating unit is

than F,.
; 4 e (A) Nylon6,6 (B) Dacron
(D) Fluoride is a good oxidising
agent. (C) Nylon6 (D) Bakelite
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8. a%-1, 4-m0dReed, e et 1. 11.70 g S, NaCl |tds w9,:3603:0,
oL | 3.4 g IR, AgNO; =[S mo@eod
TSN L3030 AgCl & 308y :
(A) wamN
Ag o [osneo T8 = 108, N
B) womS [Ae ok
Tosead 098 = 23]
(©) Qcieed,en*
(A) 574g (B) 287g
D) S$xnes owo
©) & v (© 117g (D) 68¢g
9. oIns DO | NETOEOI
° o3 122 A =% B 200 Q0B  Fnd
t3oRORB ? WOSCHAR. ‘A’ SR0ONTS I00m00IT
1
(B) g,ﬂ%o‘ %me%v‘ 33326030 ToFen BrodTOS ‘B’ 3 3como3d :
e efyu (A) 1.0x108m
(C) Rpe@oddo & eoddTess* B) 125x10"m
(D) Recdcdo Beedge' women* (©) 25x10%m
-
o i (D) 1.0x107m
18, GG EA - W 13. 893 oodond Rede  ecindesce
(A) o eRBReFAoR* Q0TI 0D 8,3
(B) eEpesnd (A) C<N<Si<P
(C) Sners (B) P<Si<C<N
(D) 8qedets, Omet (€) P<Si<N<C
(D) Si<P<C<N
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8. Cis-1, 4-polyisoprene is called 11. The mass of AgC/ precipitated when a
(A) Buna-N solution containing 11.70 g of NaCl is
added to a solution containing 3.4 g of
(B) Buna-S AgNO, is
(C) Neoprene [Atomic mass of Ag = 108, Atomic
mass of Na = 23]
(D) Natuial inbbee (A) 574g (B) 287g
© 117g (D) 68¢g
9. Which cleansing agent  gets
precipitated in hard water ? 12. Two particles A and B are in motion. If
- ] : the wavelength associated with ‘A’ is
(A) - Sodium lauryl sulphate 33.33 nm, the wavelength associated
(B) Cetyl trimethyl ammonium with ‘B’ whose momentum is %’d of
bromide ‘A’is
(C) Sodium stearate (A) 1.0x108%m_
B) 1.25x 1077
(D) Sodium  dodecyl  benzene ®) Rl
slobobihs (C) 25x108%m
D) 1.0x107m
10.  Anti-histamine among the following is 13 The it "icuinetion ‘extialny of he
(A) Bromopheneramine following elements are in the order :
' (A) C<N<Si<P
(B) Amoxycillin
(B) P<Si<C<N
e i g (€ P<Si<N<C
(D) Chloroxylenol (D) Si<P<C<N
Space For Rough Work

Chemistry



14.

15.

16.

AgCl 3 DO 53,03 BRAWODHHR
(A) 0.1 MNaCl 3¢

(B) 0.1 M BaCl,39,

(©) 253 De0sY,

(D) 0.1 MAICL, 3¢

AT w3BEY,, JOFE, e8I, LT
WUFFS QCDIOTIY , CX0s3 BT
T,30J0Y, ?

\'s
(A) T=K
(B) logK=logV+logT

(C) logV=IlogK+logT

d(/ 1
® G-

@ S9NS TOSIFIR 3,03 Aegd
08 AR ?
0

CH, - CH = CH - CH, - C - CH,
)

17.

18.

19.

298 K 39, & #NISPndd, cnyhcd
DeORQ, 53,08 3R DO BodT ?
(A) CH;NH, (B) (CH,),NH
(C) (CH;;N (D) C(H¢NH,
Toocdod HNO, &3 moetos H,S0,
ned 1:1 Q03ndeodn, o0 o)
SFamen,  p-FHneddn R
m-Fup coOeaTied  waddes I
B, TRETY, BRSNS, 2w 500
(A) -NH, noo23 m-Qder 8% roro
(B) -NH, oo m 2 p
e 30O Moed
(C) -NH, 3 FpteeRestrngy Wosea®
8 eLorOUSEY DACDRETIS.
(D) FoRYp-Fin e e’
JRoNesTrarieomd
m-#30, e’ Guotsn33.
SR, B0 GRIVY, Jegcdeetdmicd
2TOOTON wotpxoﬁ;& :
(A) mﬂ@ﬂmﬁ:’o‘ oy
(B) mﬂ@ﬂe%ﬂd wzz‘ tATeIm ]
(© mﬂ@"eq‘a:ic' WOy
(D) xd%eq‘aq‘d wog

A-1

I 20, 83 FINIYNYY TR TORRI, TN
—> CH;-CH=CH-CH,-C-OH e aoe:Q S0 4
(A) OIS 508 % R0!

(A) DoOF0o3T ), crden’

(B) wWorkpecder Jood *
C) 1, a3 NaOH wmo,=e0 e
()2_»"‘ > (©) DBDF-%
(D) Sn &% NaOH m,369 D) B
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14. Solubility of AgC/ is least in 17. Which of the following is least soluble
(A) 0.1 M NaCl in water at 298 K ?
(A) CH;NH,
(B) 0.1 M BaCl,
(B) (CH,),NH
o s fac e
®) 0. 3 (D) CH,NH,
15. Which of the following equations does 18. If Aniline is treated with 1 : 1 mixture
f . HNO :
NOT represent Charles’s law for a - -con - L e .con H 2504
. p-nitroaniline and m-nitroaniline are
given mass of gas at constant formed nearly in equal amounts. This
pressure ? i due to
(A) m-directing property of -NH,
(A) "T£= K group
(B) m & p directing property of
B) logK=logV +log T —NH, group
(C) protonation of -NH, which
(©) logV=logK+logT causes deactivation of benzene
dinV) 1 ring
D@ —4F °T. (D) isomerization of some
p-nitroaniline into m-nitroaniline
16. Which is the most suitable reagent for 19. In nucleic acids, the nucleotides are
the following conversion ? Joined together by
0 (A) Phosphoester linkage
I (B) Phosphodisulphide linkage
CH; - CH =CH - CH, - C - CH, (C) Phosphodiester linkage
0] (D) Sulphodiester linkage
Il :
— CH;~CH=CH~CH,-C-OH 20. Which of the following is generally
(A) Tollen’s reagent water insoluble ?
(B) Benzoyl peroxide (A) Fibrous protein
(C) 1, and NaOH solution (B) Amylose
: : (C) Vitamin-C
(D) Snand NaOH solution (D) Glycine
Space For Rough Work

Chemistry

A-1




24,

2. B NS e DR ePnd pKa Fpodeecdon’ wP HVZ 8cdn
BSRI), BeodY WD : LA, BRetRednTRReOTt ey
o, pKa 2RR0YE. BT, BB v3Z
a Qe i 16 o e 2
Toadoe e
b. pJunepemer ii. 078 VL Y IR
T, WOTT SFNG.
c. P iii. 10 ,
d atFumy iv. 7.1 (B) Hpmdeecin’ mp8os
a T R TOWFOTRT SN
A) i v i
C) pwdeccior ump
® @i i v i e A
© &% Wl TRoTNS.
=y WA (D) dRRedoedn TR’ U=os
22. @ FUNS CANITR) BT LD TLOE SRNG.
ROEsTIR, TR LHRLIBRD ?
(A) Qed = [0 " H,/Pd — BaSO, '
(B) NaHCO, : e
C) Na,CO 1 B 8 i P
O (i) ™OOEHC!
(D) Na gees
R 33 S rigb IUXT S3racon worer
23. wordacdesr’s) evotld SREIZH. Toroh
Ay HOH,C -~~~ CH,0H
A _eonc A~ CHO P o3
HOH,C C 5 cn,on~"~~ CH:0H gy
A, B 2% C 520811 8,zaN (A) CeHs
(A) H,/Pd, PCC, NaBH, (B) CgHsCOCI
(B) NaBH,, PCC, H,/Pd (C) C4H,CH,0H
(C) NaBH,, alk. KMnO,, H,/Pd (D) CH,COOH
(D) H,/Pd, alk. KMnO,, NaBH,
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21.

22.

23.

Match the following acids with their

pKa values :
Acid pKa

a.  Phenol i. 16
b.  p-Nitrophenol ii. 0.78
c.  Ethanol iii. 10
d.  Picric acid AR

a e d
(A) iii iv i ii

(B) - iii R | it
©) ii jo- Al W
(D) iv o | =T |

Which of the following can be used to
test the acidic nature of ethanol ?

(A) Blue litmus solution

(B) NaHCO,

(C) Na,CO,

(D) Na metal

HOH e~ CH:0H

A
CHO
P B yole — "
HOH,C

C CH,OH —~~~_~— CH0H

The reagents A, B and C respectively
are
(A) H,/Pd,PCC,NaBH,

(B) NaBH,, PCC, H,/Pd
(C) NaBH,, alk. KMnO,, H,/Pd
(D) H,/Pd, alk. KMnO,, NaBH,

24.

25.

Propanoic acid undergoes HVZ reaction
to give chloropropanoic acid. The product
obtained is

(A) stronger acid than propanoic acid
(B) weaker acid than propanoic acid
(C) as stronger as propanoic acid

(D) stronger than dichloropropanoic

acid

H,/Pd - BaSO,

7

(i) con.NaOH

— »R+S
(i1) dil. HCI

R and S form benzyl benzoate when'

treated with each other. Hence P is
(A) C¢HsCHO

(B) CgHCOC!

(C) C¢H,CH,OH

(D) C4H,COOH
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26.

27.

4f B930Q [IMFTWEY oo
Soo[OINT R Lert

#8a eI
(A) esmadrrisd
B) o3 opmoRtied
(€)  Rog,ors FoBorisd

(D) asa‘dmma'ﬂdo

Ce (Z = 58) it Towopmued 3T
Beodozn

28.

29.

NaCl & K,Cr,0, n¢ 203,083
Tooot0g H,S0, wedrt w0 Snadeen,
MR $0) SO0 dePrRed3s. o
BINS BeFo0 SN ?

(A) & sact0 NaOH Jeocdrt =90
T30, 3e0s3TY, VeI

& odow Cro,Cl, &3 Cl,
NPy Beods.

8 wdado CrO,Cl, o) =%,
BRoDT.

Al UMD JIr' LS
mBTEEE B GBIV
TIOWATIN, WO TYD LITY)
(a{plelevercia

(B)
©

D)

8 NS TeOSnvQ SN
SRR ?
(A) RogaOR oRNvY e3o3 JYS

A-1

4+
(A) Ce™ o0 TR raza0smNG. oogmee RS od LoD
. OB 2e0R0TS,
(B) Ce3m3RLu Nod BN, (B) 53,08 TR evgRred RoagcoQoies
deemnied PpedaEod of @S
(C) Ce o ww3mFmo Bosd, +4 No3 %W.
Co** risb ev3EreasaTsRwoNnss.
(D) Ce mINITON +3 I +4 (D) 3d Zekdodg, oy, BN
VRO evZTeed WO MR
U Roas, YRS e 0e0Ro3S.
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26.

27.

The elements in which electrons are

progressively filled in 4f orbital are

called
(A) Actinoids
(B) Lanthanoids
(C) Transition elements
(D) Halogens

Incorrect statement with reference to

Ce (Z=58)
(A) Ce* is areducing agent.

Atomic size of Ce is more than

28.

29.

A mixture of NaC/ and K,Cr,0, is
heated with conc. H,80,, deep red

vapours and formed. Which of the

following statement is false ?

(A) The vapours give a yellow
solution with NaOH.

(B) The vapours contain CrO,Cl,

and Clz.

(C) The vapours contain CrO,Cl,
only.

(D) The vapours when passed into
lead acetate in acetic acid gives a

yellow precipitate.

Which of the following statement is
wrong ?
(A) In highest oxidation states, the

(B) transition metals show acidic
that of Lu. character.
. ‘ (B) Metals in highest oxidation states
(C) Ce in +3 oxidation state is more - are more stable in oxides than in
fluorides. '
stable fhan i, (C) Mn* and Co* are oxidizing
ST agents in aqueous solution.
(D) Lo dowm copition xidagion (D) All elements of 3d series exhibit
states of +3 and +4. variable oxidation states. -
Space For Rough Work
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8 ISPV,  cePad @303 35. B(OH), + 2H,0 —> [B(OH),]” +
B WOmE Ore,omd 8hd ? Hsé-
(A) CN- B) CO 8 8,008, B(OH), & so03>F
(©) NH; (D) en
(A)  Tpeedoede® &)
3. WASINYY, oI ORB (B) WIHE o,
mmm‘mw? (©) DRONR BI,
(A) SO, (B) BeCl, (D) R0 )
(C) BF, (D) CO,
36. 1 SeedR) PACL - 4NH, mdecd
32. WPOTIQHS  mwogne I 38 T AgNO, 5%y b,
ORISR AN, SEomRn: 2 tpedRm), AgCl ey damodd. o
(A) 6,19 ®) 5.11 R,Bee0 TOwEBCI0 B,
(© 5,19 (D) 5,20 RO,
(A) 1:1 a0,
33. AH> AU enchs 8,0
(B) 1:2&::5%@:@&6
(A) Ny + 0y —> 2NO,
©) 1:3 =050,
(B) Ny +3Hy, —> 2NHy 5
: (D) 1:4 a,00m%
(©) CaCO,,—> CaO +CO,, S
(D) CHyg) + 2055 —> COy +
2H,0,, 37. Sown ow, s etdoe €, edocdmtt (1ID)
B er IR :
34. 02 RmeosRy Cr,07 ey Cr? (A) [Cr(H,0)6](NOy);
COTMNA  GTBAFRD ST, TNS (B) [Cr(H,0){NO,](NO,),
'adua“p‘rw draw'ﬂvzoa% :
(©) [Cr(H,0)J(NO,),
(A) 1.2 (B) 12 D) [CKH,0)NOLNG
©) 6 (D) 0.6 FOT AR
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30.

&

32.

33.

34.

Which among the following is the
strongest ligand ?

(A) CN-
(C) NH,

(B) CO
(D) en

Which of the following possess net
dipole moment ?

(A) SO,
(C) BF,

(B) BeCl,
D) €O,

The number of n-bonds and o-bonds
present in naphthalene are respectively

(A) 6,19 B) 5,11
(©) 5,19 (D) 5,20

The reaction in which AH > AU is
(A) Ny + 0y —> 2NO,

(B) Nz(g) + 3H2(g} — 2NH3(3)
© CaC03(s)——) CaO(s) + COz(g)

(D) CHyg) + 2054 —> COy +
2H,0,,

The number of moles of electron
required to reduce 0.2 mole of Crzo_,,2

to Cr3
(A) 12 B) 12
) 6 (D) 0.6

£ -3

37.

In the reaction B(OH), + 2H,0 —»
[BOH),]” +H;0

B(OH), functions as

(A) Protonic acid

(B) Bronsted acid

(C) Lewis base

(D) Lewis acid

Addition of excess of AgNO; to an
aqueous solution of 1 mole of
PdCl, - 4NH,; gives 2 moles of AgCl.
The conductivity of this solution
corresponds to

(A) 1:1 electrolyte

(B) 1:2electrolyte

(C) 1:3electrolyte

(D) 1:4 electrolyte

The formula of penta aquanitrato
chromium (III) nitrate is,

(A)  [Cr(H,0)JNOy),
(B) [Cr(H,0)sNO;](NO;),
©  [Cr{H,0)](NOy),
(D) [Cr(H,0);NO,INO,
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39. ©303 e C - €1 ossy

%O NaOH o3 it stmacen, e

BONIRS o3 ? (A)

Ci
(A) O/ ¢

B)
e
NO,
(B)
N
C
N

Cl!
-

(D) CH,=CH-CI
I

NO;

0. For sabawos AN
wanw Fewo s edwo' aaeg,ca‘mb -

©

)
0,
0;
T ®) Y gAY
NO, NO, i
(D) © Y =Y
Cl
NO;

(A) NNl ﬁ)&JACl

D) +C =3 N

Space For Rough Work
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38. Which of the following halide 39. The compound having longest C — C/
undergoes hydrolysis on warming with bond is
water/aqueous NaOH ?- 3 cl
¢ (A)
(A)
Cl
: Cl/
(B)
(B) NO,
= Cl
N
Cl
(D) CH,=CH-CI
NO,
©
NO, 40. The alkyl halides required to prepare
)\/\ by Wurtz reaction are
cl (A) M NcCland NI
NO’. NO, B) Y and AAY
. Cl
o ‘ © Y and ¢
Cl
o D) +Cland S
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41. on IRAR NO, &) BRNE SRE 45. e3Py B0 BB, HVOLO RREIT
SReEd Fid e’ - (A) 603 Fpemmooss Buyd
(A) NaNO, (B) KNO,
(© LINO, (D) RbNO, (B) 3ONTH B8%* T,mReomd ad
; ©) moIRdT,BY avd
2. RS ¥ ST LIRS, >
ROWOPATOZ B FINSYNVE, cARId (D) BOD o aed
R BQ?
(A) TR 5,0 TP, 46. odns Bewdox NG ?
(B) TS sv3 HORT K etoodNG. (A) Ea =0 ¢59, sotnsdert 40008
(€) 20s Eaesad, FrEs 'S CEI k = 906037 20008 A.
BIodRy  SeomoN DT, eRN T
ORI RLET. B) Ink oo, % 34,
(D) FREexs® LRUTII) Roogdmon ROSea3ednnGs.
B OBORWBT DR -
z;a)c:sum ; o B %
1 3,03508 e0sNT $,00%508
3. 2@ edoom  Domewd ©raond PIRosRRY, ¢ FRT axw
BREOROTIT RIS,
(A) CH,=CH-CH=CH, (D) Sensgrss evaydodn, Ea ob
(B) CH,=CH-CI IPO,T) WBTRARIOE .
(C) CH,=CH-C=N
CH, = CH-CH, - NH
i LA 47. 1 ®. 2 M CH;COOH ) 1 &e. 3M
4. QoY WIRIEOOT 2-2, 83 DFF O30 CH;OH a3 Jomon o
630, 200, 657 -2 B4 3N STER 00~ SooLrOZE. T ckRomd W, TeITRY
Reabaiet | RT3, 3 DOVOT AT DeFTEIRROATON
e v “ T,00p8  Fertg  SordeeIN G
o s b 8 cdoots Fericy
(B) H,|Pd-C
© BORINH,3ONa (A) 0250=, (B) 0.50=),
(D) =008 HCI 39 Zn ©) 2o=, (D) 4o0=)
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41. The metal nitrate that liberates NO, on 45. Eutrophication causes
heating . ~ (A) increase of nutrients in water
(A) - NaNO; (B) KNO, (B) reduction in dissolved oxygen
(C) LiNO, (D) RbNO, (C) reduction in water pollution
(D) decreases BOD
42. Which. of the following is NOT true
ziﬁdmg R vivan =) 46. Which is a wrong statement ?
(A) High calorific value (A) Rate constant k = Arrhenius
(B) Combustion product is constant A : if Ea=0
ecofriendly. 1
(C) The combustible energy of (B) Inkvs 7 plotis a straight line.
hydrogen can be directly
converted to electrical energy in (C) eEaRT gives the fraction of
a fuel cell. reactant molecules that are
D) Eg&:gggnan gas:or:dan be easily . activated at the given temp
(D) presence of catalyst will not alter
43. Resonance effect is not observed in the value of Ea
(A) CH,=CH-CH=CH,
(B) CH,=CH-CI 47. 1L of 2 M CH;COOH is mixed with
(C) CH,=CH-C=N 1 L of 3M C,H,OH to form an ester.
(D) CH,=CH-CH,-NH, The rate of the reaction with respect to
the initial rate when each solution is
44. 2-butyne is reduced to trans-but-2-ene diluted with an equal volume of water
using will be
(A) Hy|Ni (A) 0.25 times
(B) H,|Pd-C (B) 0.5 times
(C) Nain lig. NH, (C) 2times
(D) Znindil. HC/ (D) 4 times
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48. B FINIINEY, CIRID  Kesdecd

FenSIPFREN 2,000 VTBTHBOIRNS ?

(A) L:r.;ﬁc:;ss JgoedY NH,; 28
em:gaﬁm .

(B) &z ¥owo® Ig,ododg, SO, O
w:%a.frﬁ

(C) woowmor’
uv:ga’rﬁ

Zscbodg, SO, a8

D) Bewos Jychodg NH; O3

51.

s2.

1 kg 039 mpeex uat_)t
DOeRHRVATLT ToTOE wv,[eass ma!eg“
80 LIFS V9T 0.002 ohS. S

30,3600 Reoodeiody -
(A) 0.004 (B) 0.111
© 0.222 (D) 0.021

%0 Oewdof MgCl, mo,3600 s 16
QT 5 Fownd o 1A DT,
ionlevel ] TororwoNn ad%guz;fud
BIRNG. MgCl, s Swo
TOTSO3

SpEplaty
(Mg o To=eea0 008 = 24)
3
49, morRs TR0 oor oder Ay x0T M
(B) 05x10°M
o330 1.5 x 1074 mol L1, mownd
; (©) 5x102M
00,3608 Teodcdo mol L SUR=E D) 10x102M
FEY, B3, QRS WeaRIT :
(A) 20x103 (B) 7.5x10°° 53. =@ [ ETIVRY wek mdeod CuSO,
SRR, D LITRIONG.
(C) 46x10° (D) 1.1x10* = %, D, Qpen
30,3 pH
| (A) Bz
50. @0 TR ero:%a:{t-'m ﬁoa.%om +1
(€) woeRrPIoYy,
A) [noder (B) ewoger
(D) - 83 ma:bza;rg S0l aleve o))
© I (D) wdagge B3 P sATEIRNZE.
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48. Which of the following is an example 51. Relative lowering of vapour pressure
of homogeneous catalysis ? of a dilute solution of glucose
: dissolved in 1 kg of water is 0.002. The
(A) oxidation of NH, in Ostwald’s molality of the solution is
process (A) 0.004 (B) 0.111
(B) oxidation of SO, in lead chamber © o022 . (D) 0.021
process
52. One litre solution of MgCl, is
(C) oxidation of SO, in contact
electrolyzed completely by passing a
PReR. - current of 1A for 16 min 5 sec. The
(D) manufacture of NH, by Haber’s original ~concentration of MgCl,
process solution was
(Atomic mass of Mg = 24)
3 3
49. Critical Micelle concentration for a (A) Sx10"M(B) - 05% 10~ M
soap solution is 1.5 x 104 mol L 1. (C) 5x102M (D) 1.0x102M
Micelle formation is possible only
when the concentration of soap
L o 53. An aqueous solution of CuSO, is
solution in mol L' is
: : subjected to electrolysis using inert
VA 2RI . Toxalr electrodes. The pH of the solution will
5 .
(C) 46x10° (D) 1.1x10* LY liacinane
(B) decrease
50. Oxidation state ofcopper is+1 in (C) remains unchanged
(A) Malachite (B) Azurite (D) increase or decrease depending
(C) Cuprite (D) Chalcopyrite on the strength of the current.
Space For Rough Work
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54. =03 : E:/[n*’[Mn” =15 V 3% 58. 1 Sweef NaCl 39, 10-° mole SrCl, o)
RXDWGN, S SRE, evossortss
E =12V, enE’ : o i
Mn*|Mn"2 * 0 EMntMn S escarnny 0F Jerniv oss
(A) 03V  (B) 17V (A) 6.022 x 1018
(C) 0.1V D) 21V (B) 6.022 x 103
' (C) 6.022 x 105
20
55. sobateony t, 3 NG [Rly A
S0, x-088  FSRTR0sTmINTO el
WOt ROPDeIONG. @ gobad | WOT0 9DBOTQE mF, A’ de0SQ,
8, ctmatert 402083 03 - 80% ), 1313, 08T, 2.5 ¢
‘A’ atw, 100 g DeOIY, PRI
(A) molL™'s (B) Lmol's WO 0.3 °C Jax) w08 RIS A
(C©) molL's (D) s! o Beewnd* B3,008050, mol L 3¢
(03 K, = 1.86 K kg mol!) :
56. B TINIJYNVY, NP> 0TWFO (A) 62 (B) 155
3,3 BovNTS ? © 221 (D) 354
A L (B) NaCl 60. wTd ‘A’ b rEeeT G
© AN @) -coriorict &@_,edraeapadoaie!},aomr{wxcandmag'
. - mBee ‘BT b, oo o
WA’ § 3 B'RQ, DORRRIITNS.
57. 200 pm S, 603 o, 2.4 g & 5o P, 8 JobaDOS A DX B 7w
86003 PIBOYRR eora0rie Rosd, - DO Fpedhss DedoRo 8N :
: (A) Toogs a3y Fods
(mowd =10 g em™, N, = 6 x 10%
atoms/mol) (B) adormags o) adbrags
(A) 6x102 (B) 6x10% © msmzwmv
20T B FIo3s
€ 6x100 (D) 6x10" il e v
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54. Give : E° " =15 V and 58. 1 mole of NaCl is doped with 105
Mn*"[Mn*2 mole of SrC/,. The number of cationic
» = s : vacancies in the crystal lattice will be
EMnﬂ‘Mn,z 1.2 V, then EMn*"IMn*“ is Yy
A) 6.022x 1018
(A) 03V  (B) L7V Shd g
3
(© 0.1V D) 2.1V (B) 6.022 x 102
(C) 6.022x 1013
§5. The plot of ty, v/s [R], for a reaction is (D) 12.044 x 1020
a straight-line parallel to x-axis. The
- .for- WL o i 59. A non-volatile solute, ‘A’ tetramerises
reaction is in water to the extent of 80%. 2.5 g of
‘A’ in 100 g of water, lowers the
-1 o] =1 ’
CA) - mothis 48wt s freezing point by 0.3 °C. The miolar
(€©) molL's (D) s! mass of A in mol L s
(K for water = 1.86 K kg mol™)
56. Which of the following is a network (A) 62 (B) 155
crystalline Solid? ©) 221 (D) 354
A 1, (B) NaCl
(&) AN () “loe 60. Solution ‘A’ contains acetone
dissolved in chloroform and solution
> ‘B’ contains acetone dissolved in
§7. The number of atoms in 2.4 g of body carbon disulphide. The type of
centred cubic crystal with edge length deviations from Raoult’s law shown by
200 pm is solutions A and B, respectively are
(density = 10 g em™, N, = 6 x 10% (A) positive and positive
atoms/mol) (B) negative and negative
(A) 6x102 (B) 6x10% (C) positive and negative
(€©) 6x10% ; (D) 6x10" (D) negative and positive
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scanner. Therefore, avoid multiple markings of any kind on the OMR answer sheet.

5. Use the space provided on each page of the question booklet for Rough Work. Do not use the OMR answer sheet for the
same.
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7.. Hand over the OMR answer sheet to the room invigilator as it is.
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